
(+6)·(-4) + (+4)·(+10) - (+2)·(-5) =  __________________________________ 

(-6)·(-4) - (+4)·(-10) + (-2)·(-5) =__________________________________ 

[(+6)·(-4) + (+4)]·(+10) - (+2)·(-5) =__________________________________ 

(+6)·[(+4) + (-4)·(-10)] - (-2)·(-5) =__________________________________ 

(-6)·(+4) + (-4)·[(+10) + (+2)·(-5)] =__________________________________ 

[(-6)·(-4) - (+4)]·[(-10) + (+2)]·(+5) =__________________________________ 

(+0,25)·(-1,2) + (-2,5)·(-3,6) = __________________________________ 

(-1,75)·(+8) - (+1,01)·(-12) =__________________________________ 

(-12,5) + (-1,5)·[(+8,2) - (+2,8)] = __________________________________ 

[(-12,5) + (-1,5)]·[(+8,2) - (+2,8)] =__________________________________ 

[(-0,9)·(-7) - (+1,8)]·(+0,04) =__________________________________ 

(-0,9)·[(-7,91) - (+1,8)·(+0,05)] =__________________________________ 

(-36):(+9) - (+21):(-7) = __________________________________ 

(+9):(-12) + (-15):(-6) =__________________________________ 

[(-96):(-8) + (+4)]·(+6) = __________________________________ 

(-96):[(-8) + (+4)·(+6)] =__________________________________ 

(-96):[(-8) + (+4)]·(+6) =__________________________________ 

[(+120) + (-43)]:[(-40) - (-18)] =__________________________________ 

 


